NDA 4 NA €xAM. 1), 2019

T 7E ATTFT TE THLVT GIeiasT @ierd i 7 FET T 7F 7% T Gt
o GRS T

%Y g

i L e ol s R N

T{teTur gieent
ot

q7HT ; 3 v s die e qurfes : 300

I
1. OfteT OEe BH aTe, 39 36 uitgur gitae & usare wayd o o fh god =53 fan o,
mmwg&nqﬁ@wm arTfe = g | afe e 2, a’rgﬁnﬁ’ru’&mgﬁﬁmﬂmﬁﬁﬁql
2. AT o W % OMR Iw-uEes H, sfua wum W, ﬁawaﬁ'{uﬁmgﬁwmgn
WIE) A, B, C a1 D Wi, a7 § va femn Tt oo a1 Formimfa & s iR
Irifgar &t ¢ | Tordt ot yeom & 9=/ Ranfa ﬁﬁaﬁﬁmmﬁm
3. wa iz gitres o wy A Gy T e T e S
s fora 2 | wliew gfes @ v Fo T ford |
4. 38 wigm g 4 120 S ( m}ﬁqwﬁlmmﬁ:ﬁaﬂ!mﬁﬁﬁw%lm
TEATS B 90 e %}_w)ﬁqﬁﬁﬁlﬁﬁﬁﬁﬂﬂﬁ(ﬂﬁﬁﬁ o g IT-us T SAfhd
argd § | AR s uE e 6 o A mﬁmmuﬁ%mwmﬁaﬁm#ﬁmm
o | T 9 o [ Fer v g Teger I 2 |
5. Tt 2t wft wegen overn @ fEu o swome w0 g7 sifes w0 € 1 3Eewss b TR g e Sfen |
6. @Y wgAvil % o OO § |
7. 36E 9ge TR ey vl gftae % fafim yeAi oy o T sifed T IE W, saehl gem
TR % wy Ui SeTit % S oo faam sa 6 # |
8. @9 o et | 91 IALTEE § WA % Wg 9U1 T % HIH W $ae Ia-gaE Adias w
diq 2 | et s wma figon gReaer @ S o srafh 2 |
9. @ w % fom o wfteor et & s d g E |
10, el 31 o forn aoe .
aegfg yy-get § Iefrgam g o e e gei % e que R o |
(1) W Y e m Ao et § | Iofigan g v uva & faw fau e o rew s % o g
¥ foa fopu o afski o1 ven-fegd 2ve ¥ w9 | ey o |
Giy  afe F1 Ioflean v & afie e B R, A1 9 wew I wnn amom, qafa fiu o s 6 8w
Tt dren B, R ot 3w v % for swdsEER @ 35 T w5 gvs e ame
(i) @t Iofean gm 5 9w TR0 R 9 R, s Idfgan g ae T e e B, A1 39w %

ferm, =rd g = fam wmom |
T 7 HTIBT TE TOGVT Gleaant @ier i 7 FHgl 790 79 % T Tiel
Note : English version of the instructions is printed on the back cover of this Booklet,

EDF-5-DGY (1-A)



EDF-5-DGV

A 25, ~125, 625, 3125, ... T ndl 4g 1
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(a) (-5t

(b) (-1 5™

(¢) (-1 151
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A=(xeZ:x321=0)
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{c) ;

i {hﬁij 1—4’51}
2 2

T wfted wg=El A o B % fom fafafiaa
FeAl W fEw Fifio .
1. (ANBIUMANBIU(ANBI=AUB

2. (AU(ANB)I=AUB

I FEH B " R T A 0
(a) hae 1

(b) Hae 2

(¢) 13 2gHt

(@ FTar 1A% 2
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1. AcC=(ANB)c(CNB),
(AUB)c(CuU B}
2. (ANB)c(Cn B)AH B ay==l & ferw
=Ac(C

3. (AUB) c(CUB) Taft B gg=ai & feru
=AcC
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(a) whad 1 N 2

(b) “heel 2 R 3

(c) heer 13 3
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1. What is the n term of the sequence
23, 125, 625, -3125, ... 7
(a) - (-5
) (D 5™
(f  =1rrlgh
(d) i ”n-—l 5'1+1
2. Suppose X = {1, 2, 3, 4} and R is a relation on
X IFR = ((1, 1), (2, 2), (3, 3), (1, 2), (2, 1), (2, 3),
i3, 2, then which one of the following is
correet ?
{a) R is reflexive and symmetric, bul not
transitive
{b)> R is symmetric and transitive, but not
reflexive
(e} R is reflexive and transitive, but not
symmetric
(d) R is neither reflexive nor transitive, but
symmetric
3. A relation R is defined on the set N of natural
numbers as xRy = X2 - dxy + 3_1;2 =0, Then
which one of the following is correct ?
{al R is reflexive and symmetric, but not
transitive
(b} R is reflexive and transitive, but not
symmaetric
fe) R iareflexive, symmetric and transitive
idl R is reflexive, but neither symmetric nor
transitive
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4.

5.

(3-A)

ITA=|xe 7 :x"—1=0}and
B={xeZ:x"+x+1=0}, where Z is set of
complex numbers, then what is A N B equal
to ?

{a) Null sel

[“1+481 -1~B1]
[43)] 1 2 N 2 I‘
i) [_1+J§iF_-1.-J§i
| 4 4
. 1+431 1-43i
w [ 1=

Consider the following statements for the two
non-empty sets A and B :

1. ANBIUMANBIUANBI=AUB

9. (AU(ANB))=AUB

Which of the above statements is/are correct ?
{a) 1only

(b) 2only

{c) Both1land?2

{(d) Neither 1 nor 2

Let X be a non-empty set and let é'!u,- B, C
be subsets of X. Consider the following
statements ;

1, AcC=ANB ciCnB),
(AUB c(CURB)

2. (ANBIc(CNB)forallsets B=AcC
3. (AUBIc(CUB)forallsetsB=AcC
Which of the above stat;e:n&nla are correct 7
(a)  1andZ2only

(hy 2 and 3 only

(e} 1and3only

fd) 1, 2and 3



9. aﬁ ﬂ%,?ﬁwaﬁ

(a) YRR TR
(b) HAHTHIT IR

(el ?Hﬂﬁﬁ AR
(d) =FTEm gE
x =3 1
10. I |w 1 i
0 2 —i
AT S 2
a) —-3,4
(h) 3,4
e} 3,—4
d)y -3,-4
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7. @4 B=|2 4 0|2, d B® ueged I8
1 1 0
ferers s 2 0
[0 0 0
{a) 0 o o
=8 <=F @
[ 0 -8 12.
1 3] g 0 =1
0 0 8
w0 2
e |0 0 1
0 0 0
(d) THFI Afaa 751 & 13.
8. FHHW X’ -x-6|=x+2 HHAFE?
(a) —-2,1,4
h) 0,2 4
¢} 0,1,4
(d) -2,24

14.

=6+11 &, a1 x 3T v+
15.

(4-A)

Mad 4022+ 22+ 1=030
202 10 FEd UE #

(a) =1,
b) 1,0
© -1,
d)  w w

I €20, n +2) = C(20, n — 2) %, A1 n fFTH
T 2 2

fa) 8

(by 10
ey 12
dy 16

T GAde W 10 g 7@ | 5 fagan 0 1 i o
T fog v wie v | 6 § | 3wt et
1 Fa T fEaft & 5 5 famgedi 1 S
TS T AT £ 2

la) 90
(b 45
{cy 40
{d) 30

aﬁ(b,ﬂ"ﬂﬁﬂpxz+qx+r:0{ﬁ1ﬁp,q,r
aft vene B) ¥ fm amafes m@ § O
ffafen 0 5 R ws @@ 2 ¢

fa) a=0 b=0

ib) a<0 b<0

ic) a=0 h<0

idry a<0 b=0

T A=, w)) B, @ AF EE o= (Wa
#e) 2

(a) {4, (o), (1, (%, pl)

(b) 1o, (&, (A, pi), (At W)

[c) o, {al, {4, b, 18, 1A, puih

(dy  HAL (A, wh A, 1A, plhl



3 2 0
e ITEB=2 4 0], then what is adjoint of B
1 1 0]
equal to ?
] 0 0
(a) 0 o o0
=g =1 8
0 0 -2
(b} o 0 -1
0 0 8 J
0 0 2
(c) 0 0 1
o 0o 0
{d) It does not exist
8. What are the roots of the equation
|x° - x - 6| =x+2? '
fa) -—-2,1,4
by 0,2, 4
(¢} 0,1, 4
dy -2,2,4
0 1
9. If A= i gl then the matrix A is a/an
{a) Singular matrix
(b} Involutery matrix
{c) Nilpolent matrix
(d) Idempotent matrix
s —di 1 -I
10, If |y 1 i |=6+11, then what are the
Q 2i —1
values of x and y respectively ?
(a) -3,4
(by 3,4
(e 3,—-4
(d}y -3,-4
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11.

12,

13.

14.

(5-A)

The eommon Toots of the equations
z° +22° + 22+ 1=0and zmw+;2mﬂ+1={]
are

fa) —-l.w

b 1,0

R o

() w0

If C(20, n + 2) = C(20, n — ), then what is n

equal to ?
(a) 8
(by 10
e} 12
tdr 16

There are 10 points in a plane, No three of
these points are in a straight line. What is the
total number of straight lines which can be
formed by joining the points ?

(a) 90
by 45
(e} 40
(d) 30

The equation pxz +gx + 1 =0(where p, g, r, all
are positive) has distinet real roots a and b,
Which one of the following is correct 7

(a) a>0 b>0

by a<0, be<0

i) a=0 b=0

id) a<0, b=0

If A = {A, [4, i}, then the power set of A is
(a) ¢, {0k {A), 1A, pHt

(b) Ay, 1A}, Ha, bl 1404, i)

fe) o, (A, 0, mdy 12, 1, pill

(dy (A, (2, i, 12 A, i
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16.

17.

18.
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foemera § ol @ =gEEn dEm F= A g
&2 :
(a)
(b)
(¢) 95

123
111

(d) 63

famem #@ ot it wfieon gen feaht B
Hepell & 7

(a) 111
(b) 123
(e) 125
(d) 135

M A Wil 3 F UF dEE AEgE R, @
THHIFEH qfae™ (A

22.
(a) Y[PT AT qOWT R
(b) A% =R #
() 9A% e B
(d) 1 sifEae 4
(6-A)

19.

20.

21.

A, #ifE 3 F W vER F uw T g §
TWE i H OWE 4 B | ek ufEd &
e Rocics b

(a) 64
(b} 36
(c) 32
(dy 4

6 Wil o 4 efiel o @, ve walem
5 =aferal ) el e = @ | 7R feet wen
# fom 1 gwar @ @i F0dF0 s el
1 el STavg w2

(a) 209

(b) 210

(¢) 246

(d) 242

[(2x — 3y)® (2x + 8y)*)? & fomm # @
TEAT

(a) 4

b 5

(¢ 8

(d) 18

1+ ax)" o feream o, weet 17 92 A 1, 12x
¥ 6ax* & | n forerh aran # 2

(a} 6

by 9

(e} 10

d) 12



Consider the following for the next 02 (two)
iftems that follow :

In a =chool, all the students play at least one of

three indoor games — chess, carrom and table

tennis. B0 play chess, 0 play table tennis, 48 play

carrom, 12 play chess and carrom, 15 play carrom

and table tennis, 20 play table tennis and chess.

[l

16, What can be the minimum number of students
in the school 7
(a) 123
(by 111
e}y 95
d) 63
17. What can be the maximum number of
students in the school ?
ay 111
by 123
(e) 1256
idy 135
18. If A is an identity matrix of order 3, then its
inverse (A7)
(a) isequal to null matrix
(b} isequal to A
{c) isequal to 3A
id) does not exist
EDF-5-DGV

19.

21.

22,

(T—A)

A iz a square matrix of order 3 such that its
determinant iz 4. What is the determinant of

its transpose 7

(a) 64
(hy 36
() 32
d) 4

TFrom 6 programmers and 4 typists, an office

wanta to recruit 5 people. What is the number

of ways this can be done so as to recruit at
least one typist 7

(a) 209
(by 210
(e} 246
{d) 242

What is the number of terms in the expansion
of [(2x - 3:;}2 (2x + 33,*}*'7!]2 7

(al 4
(b} &5
(e} 8
(d} 16

In the expansion of (1 + ax)", the first three
terms are respectively 1, 12x and 64x>. What

isnequal to ?

(a] 6
by 9
{e) 10
(d)y 12



23.

24,

25.

T 1, 5 3R 25 €1 95 (FEFTE w9 H AT
v T ) B A6 &

(a) ad UH AP

UF § aAftrs W uftfie dem d Aps &
(¢) F9Tfa TEm 5 APs &

ftfir wear § GPs %

(hl

(d)

TRt AP (p + qd 3N (p — q)F BT T ITHA

 aE R
(a) (2p)d 9% %
(b)  (2q8 98 %
(¢) pd IS HTHH

(@) of TBHGHF

qg A, HIR n > 1 & T T A=ZE B, q
f=fafea § & $H-m v udt & 2

{a) deti—A)=detA

(b} det{-Al=(—1"detA
ie) deti—Al=—det A

id) deti—A)=ndetd

26. 25 cosec® x + 36 sec? x T ZAAH HH HT
-
(a) 1
() 11
fed 120
d) 121
EDF-S-DGV

Tt Hr arer 02 (F1) Al & fore Ferforfe @
farame &ifae -

27.

28.

o efifem A 3R B, (3 x 3) egE # W@
dﬂtﬁ=43ﬂidetﬁ=3% |

det (2AB) feraes st=t 8 2

fa) 986
(by 72
(e} 48
@ 36

det (3AR™) bereh =t 2 9

(a) 12
b) 18
{c)y 36
(d) 48 ,
T ST are 02 (F1) FvAT & fow At o
fareme &ifare -
- UF [y TEm oW YR 4 M 2 %
L, L1t2
T

29.

30.

z =Rl W4T &1 & 2

(al 4
(h) 2
er 1
1
{EIJ E
2 1 GG IV 41 8 7
tal 0O 1
I i
(b} 1
R
{CJ E
idy =



28, The numbers 1, 5 and 25 can be three terms
{not necessarily consecutive) of
{a} - only one AP
{h)  more than one but finite numbers of APs
(e}  infinite number of APs
(d} finite number of GPs
24, The sum of (p + q)th and (p - q}"h terms of an
AP is equal to
(@)  2p)™ term
(b} {Zq]m term
{0 Twice the p'® term
(d} Twice the qth term
25. If A is a square matrix of order n > 1, then
which one of the following is correct ?
(a) det(-A)=detA
(b} det{—A)={(-1"det A
(e} det{—-A)=—detA
(d}) deti-Al=ndetA
268, What is the least value of
95 cosec” x + 36 sec” x 7
fa) 1
b} 11
{c) 120
dy 121
EDF-2-DGV

Consider the following for the next 02 (two)
items

27,

28,

Let A and B be (3 x 3) matrices with det A =4
and det B = 3.

What is det (2AB) equal to ?

{a} 96
by 72
{c) 48
(d) 36

What is det (3AB™1) equal to ?

fa) 12
th) 18
fcy 36
(dy 48

Consider the following for the next 02 (ftwo)

ilems:

29,

30.

(9-A)

A complex number is given by z = 1+—213 ;
1-(1-1)

What is the modulus of z 7

(a) 4

by 2

{cd 1

@ 3

What is the principal argument of & 7

(a} 0
b3
{b) E
14
I:C} E
(dy =



sin 34° cos 236° — sin 56° sin 124°

H AA F41|35. BH HA TR ?
cos 28° cos 88° 4 cos 178 sin 208° ?

'% 2 (a) -1
(a) -2 (by 0
by -1
© 9 ey 1
() 1 ) 2
32. tan 54° FI Few wer sl RRar S wwa | ST o Tt 02 (31) St @ farg Rt w
29 Fareme &ifor
(a) B0 g 6 78 fom T R fF cos (0 - o) =a, cos (0= P =b
sin 97 — cos 9° -% |
(y Sin9° - cos°
SRagrcoed 86. cos (o~ p) o aa & 7
(© cos 9% 4 gin 9°
e (@) ab+ |1-a2 {1-b?
() sin 36° N
cos 36° () ab—1-a2 J1-b?

am?ran#mﬁas (1) wat & ferg Aot o (© ayl-bZ —by1-a’
A p=Xcos 0-Ysin®,q=Xsin0+Ycos 0
I p? o+ apg + q° = AX® + BY? B, @l

(d ay1-b% +by1-a2

87. sin? (o —P) + 2ab cos (o~ B e awe & ¢

D<B< —: 21
33. EIEFIHHW‘E,’? (a) a4+ b?
@ 3 (b) aZ-b?
w e) b?-a?
8 (@  -(a%+bd
() f
. 88. M sin o + cos o = p B, A cos® (20) TFEH
6 WETR P
34. A HI AEER? @ g
E:i : () p°-1
© 2 (0  pi2-p?
(d) 1 ) pP+1

EDF-S-DGV (10-A)



31.

32.

What is the value of
sin 34° cos 236° — sin 567 sin 124"
cos 28° cos 88° + cos 1758 sin 208°

fa) -2
thy -1
(e} 2
dy 1

tan 54° can be expressed as

ain 9° + cos 9°

(a) gin 9° — pos 9°
gin 9% — ooz 97
b a0
(b) s1n 9° 4+ cog 9°
() cos 9° +gin 9°
cos 9° — ain 9°

sin 36°

) e

) cos 36°

Consider the following for the next 03 (three)
itemns :

Hp=XcosO0—-Ysin0,q=XsinB+Ycos 8
and p’+4pq+g” = AX* + BY", 020< .

33, What is the value of 68 7
I
ial —
i
by =
3
T
} =Xy
L 1
Y T
: Ei
id) g
34. What i1z the value of A ?
{a) 4
by 3
c) 2
dy 1
EDF-5-DGY

35.

What is the value of B 7

fal -1
by 0
fed 1
d) 2

Consider the following for the next 02 (two)
items ;

36.

a17.

38,

(11-A)

Tt iz given that coz (8 — o) = a, cos (B — ) = h.

What is cos (e — [}) equal to 7

(@) ab+ {1—a% |1 b
(b) ab- y1-aZ {1-b?

(e}  ayl—b% —byi—a?

{d) ayl1-b%® +by1-a®

What is sin® (a - B} + 2ab cos (o - () equal
to ?

tal .-12 + h2
(b) a®-b°
(&0 b°-a’
(@ —(a®+b%

If sin ¢ + cos ¢ = p, then what 1s cos” (20)

equal to ?

{a) p2

) pi-1

© pi2-p?)
(d) pz +1



L

l+pg

W EE
1+pgq
Pty

id)
1-pg

41. afZtan o= :21- G-ﬁftantp:%%, i (0 + @) I
T T 7
(al O
b A
(b 6
T
{C] E
s
(d) =
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44,

45.

(12-A)

cos 46 cos 47° cos 48° cos 49° cos 50° ...

eos 135°
I OH F1 & 2
(a) -1
by O
c) 1
(d) 1% s1fter

aﬁsm2ﬁ=msae,aﬁn<qu‘a,ﬁsina
formes w2 2

1."'5+1
4

o
4

V5 +1

16

J5 -1

16

{a)

(b}

()

(d)
























































































